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2cos’x—9cosx+4= 0,
8cosx+Sy=09.

2cos’y+11cosy+5=0,

5cosx—2cosy+4=0.
4tgx+Sy=-9,
4tgx —y=-3.

3tgx+4cosy=>35,
3tgx+8cosy=7.

(2x — 7n)(y+3n) 0,
sm3x+ cos7y=1.

) sin® x + 7 cosy =8,

foV)

2sinx+7cosy=S5.
X = 9smy,
9xsm y=siny +10.

cos(3x —2y)=-1,
sin(3x+2y) =0.

) 7 cos® x+9sin’ y =9,
a
7sin®x —9cos’y=7.

tgdx + 4/ tg2y =

2
x“—=5x+6=0,
11. a){

12. a)
{3cosnx+sin-n—y=2.

2siny =x.

(x—4)(y+5)=0,
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(16x—13m)(8y —15m) =0,
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2sin®x —5sinx+2=0,
4sinx+3y=-1.

2sin® x + 7sinx +3=0,
7cosy+6sinx —4=0.

Stgx —4y=-17,
Stgx+y=-2.

7tgx +6siny =4,

7tgx—2siny =8.
(2x—=5m)(y +7m) =0,
sm3x+ cos8y=1.

cos?x +5siny =6,
3cosx+7siny=4.

x=19siny,

\/19xsmy—smy+20.

cos(4x+5y)=-1,

sin(4x —5y) =0.

6 cos® x — 5sin® y = -5,

6sin’ x + 5cos® y = 6.
(20y+7m)(8x—7m)=0,
{ tg2x++/ctgSy=

x?—x—20=0,

4cosy =x.

(x-3)(y +11) =0,

. T
5 cos nx+sm7y=—4.
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4x* =9y?,
a) 2x -3 2x+3y
sin x4 L +sin 3 =1.
25x2=16y?,
6) Sx—4y . S5x+4y _
sin x9 y+Sln——7——l.
2 _
x*=4siny+1, 6 | =—8cosy + 81,
) x=2siny—1 x=4cosy—9
inx=4y+1,
ll1cosx=5y —4, 6) 9sinx =4y
) cos’x=5y +8. sin®x=4y —7
‘x=2y+1,
3sin“x=y+1, 6){7C.082x 2y 6
-2 3cos’x=y—2 7sin®x =2y
2y +3x=7m, 4x—-7y=11m,
{xsinzy+3 = 0) xcos(4x—7y)=—m
2
iny=-— 5cosx —cosy =—4,
2) 3cosx+28%ny " 6){Zcosx—Bcosyzl.
2cosx+Ssiny =3. )
' iny= 3cosx—5cosy =8,
a) 231nx+3an}’ ” 6){Scosx—7cosy=12.
' 3sinx—2siny=1.
= 3x+4siny =5,
SR DU 6){3x+23iny=7.
' 3x+4cosy=7.
Inx=y— sinx=y —25,
a) SINxX=Yy 2, 6) { Cosx=_y+4
cosx=y—1
' xcos7y =3,
2) N 6){x+cos7y=4
x+sin2y =4.
S5y=1,
) xc033y=5\/§, 6){XCf;S5y_1
y xsin3y=-5 XSmoy .
= ctgx=-12,
xctgy =1 ytg )
){tgx=y—4, 6){th—y+ :
a




